
6.       Quantum Mechanics 2, 5 
and 

7. Hydrogen Atoms, 1

lecture 25, October 25, 2017



housekeeping

Exam 2 

Next Friday, October 27 

Thornton and Rex, Chapters 3,4,5, 6.1-6.3



today

Simple Harmonic Oscillator 

Hydrogen atom



Schroedinger

•move much? 
! 1914 Vienna Habilitation, WWI, 1920 Jena, 1920 Stuttgart, 1921 Breslau, 

1921 Zurich, (TB treatment 1923), 1927 Berlin, 1934 Oxford, 1933 Nobel, 
1934 Princeton? nope, Edinburgh? nope, 1936 Graz…nope, 1933 Oxford, 
Ghent, Dublin, 1955 Vienna, 1961 died.

•1925 
! learned of deBroglie’s work 

•1926: 
! January: Quantization as an Eigenvalue Problem: Hydrogen

! February: harmonic oscillator, rigid rotator, diatomic molecules

! May: equivalence with Heisenberg and Stark Effect






Quantum Oscillator

aka simple Harmonic oscillator
,
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In general " F= - hx  classically .

quantum  mechanics ?
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very familiar throughout pmsics
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Here  are  some : &= Fuda
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RELATIVISTIC QUANTUM FIELD THEORY

It's an fields
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particles
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are harmonic  excitations  of the parent

quantum field
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In  spherical coordinates
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solution  is  separable :
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